SESSION NINE

Sesgion Bight, peges 342 to 404 dealt with Relative Surplu
Value, Cooperation and Division of Labor, Division in Manufag-
ture and in Society.

Three spegkers were assigned. The first will speak on the con-
ception of relative surplus value. The second on the coopers-
tion in capitalist production. The third speaker will tell us
something about the division of labor in manufacture and in
-society.

The machine is a means for producing surplus value.

In the beginning cf capitalism, in manufacture, the revoluticn

in the mode of prcduction began with labor-power. Cooperation
and division of labor is only a process cof arrangement of work

and workers.

The revolution in the mede of production in modern industries
has its beginning in the development of the instruments of
labor.

The machine is a mechanism, performing the same operation that
was formerly done by workmen.

Marx describes the dcvelopment of the machine. It has grown out
of the old tocls. A pump was still a pump, but driven by an
engine instecad of by arm-powsr.

The machine devclcps the machine. So came the producticn of .
machines by machines. (World market, mass procduction, from

i
cne process tc ancther).

The productive forces resulting from cooperaticn and &ivision
of labor costs capital nothing. (Question). They are the
netural forces of social labor. The arrargement of production

is an cxamplc.

Machinery, as all the other parts of constant capital, neither
creates nor adds value tc the new prcduct.

So instead of beccming cleaper, thc products of the machine
should ve dcarer, as thesc contain part of the value of the

machino.

Phe machine, though always entering as & whele in the Iabor-
ing process, enters in the valwuc begetting process only
partially. Cn an avcrage, by wear and tear, it never adds
more value than it lcses.




Therc is a great dirfcrcnce between the value of the machirnc
and the valuc transforred to the new sroduct. The longer the
1ife of the machine the zreater is the differcnce.

o between the value of the machinery and the
o the new product, thc extent tc which this
latter value makes tue product dcarer depends on the mass of the
product made by thc machine. :
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The prcductivity of 2 machine can only be measured by the human
labor-powsr it replaccs.

If it costs as much labor to produce a maching as is saved by
the employmecnt of the machine, employment of the machine would
ve senscloss. Thercfore, no increasc in the productivity of

iachine Production in capitalism,. therefcre, has its absolute
limits. Capitalism uscs or develops the machine only so long
as it reduces the cost of production and increases profits.

If a mechine would savc labor but its application would cost
more than the available laber--powcr, the machine would not be
introduccd.

The use of machinery for the exclusive purpose of cheapening the
products is limited insofar as less labor must be expended in
producing the machincry than is displaccd by the employmcnt of
the machinery.

Absclute Limit:

Invention of & machine that enables us tc cut down transporta-
tion of 100,000 tons of goods between Chicago and New York te
2 hours. Without the new railroad to transport 10C,000 touns
we had to put in 200 working hcurs or 2000 working heurs for &
millicn tons. But this ncw rockct railrcsd lasts only 10
trips on account of thc speed and the special building.

e would have this result:

014 railrcad 1,000,000 --- 2000 working hcurs
lrecad 1,000,0C0 2666 working hours

3

The machine may be a vory smart invention but it could not be
uscd for it would not have increased the productivity.

Fh

What does the developmont of thc machine mcan tc tho worker?

The machine, by roplacing dircct muscular power, m
ploitation c¢f wemen and children possiblc. 3
cf ths labor-power was not, as before

egsitics to maintain the adult laborer with his

dc the ¢x-
o




by throwing evecry mcmber of his feamily on the labor market,
spread the value of the labor-powcr of this man over his wh ole
family.

At first, the income cf one could feed four persons. Now with
four persons working, the income of fcur could only feed four.
The capitalist could pay the worker less. The value of labor-
pewer decreased con this account.

Merx gives somec zcod illustraticns tc what extent children and
women were explcited. In the United States in 1936 there was
still one-half million children working in the industries.

We said, the longer the life of a machine the greater is the
mass of products but the smaller is the value transferred tc each
8ingle commodity.

The active lifetime of a machine again is based. on the length
cf the working day.

The wear and tear of a machinc is nct exactly prcpcrtional tc
its working time.

A machine working deily 16 hours during 7 1/2 ycars and a mach-
ine working daily 8 hours during 15 years transfcrs to the total
prcduct the same value, but the transfer took in the first in-
stance only 7 1/2 ycars.

The capitalist gets his surplus labor in a shorter time and
thereby alse his advanced capital.

The wear and tear of the machine has to bc consideorcd from twe
2ngloSesse Usc and Non-usc.

Lecok at a nickel that is long in ¢irculation and ccmparc the
book that has never been uscd. Th clements of decay diminish
the value. :
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The machine underzecs a moral devpreciation. It lcses ox-
change value, bccausc machines of the same kind are prcduced
cheaper, and bctter machincs cnter the compstition process.

In both cases, the valuc of the machine iS not any more deter-
mingd by its actual producticn cost, but by the production cost

¢f the new and better machinc. Becausc only socizlly necessary
labor in the avesrage is the measuremcnt of value. (Question).

In this case the machinc has lcst value. The less time the
maéchine takes to reprcduce its total valuc the less is the
danger cof moral depreciation; the longer the working day, the
shorter is this poeriod.

When machinery was first introduced, new mcthods of reprcducing
it more cheaply followed one after another.
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In the early days of capitalism, therefore, the prolongation of
tHe working day was mestly tried. On a higher acvelopad stage,
due. to the over-accumulation of "capital and due to the limits of
capitalist technique, and also to the limits of techniquc as

such, thec value of +he machine is more static.

Given the length of the working day, all other circumstances re-
maining the same, the exploitation of double thc number of work-
ing men demands, nct only double @& part of constant capital
invested in machincry and buildings, but also of that pert which
is advanced in raw material. The lengthening of the working day,
on the other hand, allows & production on an cxtended scale with-
6ut any alteration in the amcunt of capital advanced in machinery
and buildings.

Machinery produces relative surplus value, not only by directly.
depreciating the value of labor power and Dby indirectly cheapen-
ing the samgc through cheapening the commodities, but also when
it is first intrcduccd in the production process.

During this transition period, when the use of the machinery is
a sort of monopoly, the profits are. oxceptional and the capital-
ist tries to hold on to this gituation &s lcng as possible by
lengtherning the working daye

Profit whets his appetite for more profit.

As the use of machinery becomeosS more general in'a particular
industry, the social vaiue of the precduct ginks to its indivi-
dual value.

Surplus value arises from the variable capital alone. (Ques-
tion). ;

The amount .of surplus value depends cn two factors:
(Guestion) The rate of surplus value and the number. of werkers
employed. ' -

Given the length of the working day, the rate of surplus
value is detormined by the rolative duration of the necessary
lsber and of the surplus labor during a daye.

The number of leborers employcd decponds upon the ratic cf the
variable to thc constant capital.

With the development of machinery, .the number of working men
employed by a given capital decrcased. fthat Wwas formerly var-
jablc capital invested in laberpower is now invested in
machinery and becomes constant ‘capital, which does not create
surplus valuc but only transfers its value to the new product.

Twe men do not bring as much gurplus value as 24 mcn.
The application of mechinery brings with it a contradiction.
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With =2 given amount of capital the rate of surplus value can
rot be increased without decreasing the number of working men.

C, and he employs 50 laborers at 5, then he in-
able cajital and 3250 constant capital. If he
uses a new machine Ifor which he invested 400 constant capital

then he can only employ 20 laborers instead of 50, or a variable
cf $100. ' '

If a men has $50
vested $250 vari

But the mass of surplus value was, as we saw first, dependent

on the amount of laborers. So it should decrease, but it does
not because the machine makes more products and DJ that lowers
the nocessary lavor-time and, at the same time, incrcases the
rate of surplus value, or the lengthening of the working day;

that is, social workingz day.

This contradiction forces the capitalist to lengthen the work-
ing day absolute or relative--in order that hc may compcnsate

the decrcase in thc rclative number of labersrs bxp101tcd--by

an incrcasc not only of the rclative but also of the absolute

surplus labor.

By this samc proccss the surplus population develops which has
to submit to the dictation of capital.

In machinc prcduction the capitalist also intensifies labor.

As soon as the lengthening of the working day (absolute) was
stoppod by laws the capitalist threw himsclf into the produc-
tion of relative surplus value, by hastoninzg the further improve-
ment of machinery, from spced-up by force, to the Taylor System.

The rcplacecment of human labor-powcr oy machinery drove the
viorkers in the early pocriod of capitalism to fight the machine.

Inventors were killed in ordcr tc kill the application of their
.invgnticn.

The Luddite movement in the- fgth Century destroycd the machine
as the menacing menstcer. The German weavsrs dla likowise.

The instrumcnts of labor, in the form c¢f a machinc, become
compotitors to the workcr himsclf.

=)

© =

he sclf-expanssba . of capital by means of machinery is dircet-
v prcpcrtlcnul to tho number of thc working pecplc, e Hhedr
xistence is being dostroyed by this process. S

m

The wholc system of capitalist production is based on the fact
that the working mon scll their labor-pewer as a commodity.

-+

Division of labor spccializes this labeor-power, by rcducing
its skill in handling a particular tcol. As soon as the
handling of this tool bocome s thc werk of the maching, then
with the usc value, the exchanze value of the workcr vanishes.
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These workers swamp the labor market and bring down the price
cf labor-power. '

A

The capitalists sey this is not true. And the theory of compen? ‘
sation comes into 0Clng. t

¢t us examinc this theery. Capitalist idecas and theorics agree
that machinery displaces workers but at the samc time sets free
an zmount of capital to omploy an equal number of workers.
Suppose a cepitalist emplcys 100 workers at $300 a yoar.

He has a variable capital for the year of 100 X 300 - $30,000
(Rate of S. 10C%).

Now he buys now machincry that costs him $15,000.

H

¢ only employs 50 workers now or $165,000 variable capital por i
year. The raw mateorial, ote. bcfore and after: $30,000 remein '
the same., Is there capital set frce? No.

There was $60,000 capital, 30,000 constant plus 330,000 var-
iable. - It has now changed to 345,000 constant and $15,000
variable. Yet it still is only 360,000 togecther. With each
improvement in the machinc fower workers will be employed, if
cther circumstances remain the samc.

But the capitalists have to cmploy more machinists in order to
make the mechines. If the machinc is manufactured, it lasts
scme time, so in order tc cmpley tho machinists all factories
havc to introducc tho machinc. (Thé capitelists argue this).

But what the capitalists mean by "Compensation" is something clse.
They have in mind the means of subsistence of those workers dis=-
placcd by machinerye.

As a mattcr of fact, when the capitalist gets rid of 50 workers,
as in our oxample, thosc workcrs do not consume any morc to tho
value of $15,000. That mcans, a change takes place with the
$15,0600. It is nct any more consumed by the workers but be-
ccmes capital for the employment of workers. (Fixed capital),

This theory says that thc $15,000 were capitals It now fell
out of production but it will look for new application in
order to bring profit. But for the werkers this $15,000 never
was capital, but the means of subsistencc.

What confronts thom as capital is $15,000 afterwards laid out
in machinerye.

In regard to thc $15,000 of which formerly thc workers wero
buycrs cf commodities, thoy arc not buyers any mere; the price
cf the commodity will drop and more workers will bc discharged.
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The setting free of wcrkers in cne vranch of industry does not

gompensate, in the smpleyment of cother branches, but sets workers

in other branches free tooc.

The labcrers who arc thrown out of work in any branch of in-
dustry cannot seek employment in scme other industry. They
find it only when & new capitalist is out for new investments.

Ag scon as mechinery sets free a part of the werkingmen employed
in a given ©branch of industry, the reserve men are also divert-

ed into new channels of employment and become absorbed in other

branches; meanwhile, the original victims during the
transition are left to charity and semi-starvation.

psriod of

Machinery as such is not respcnsible for disconnecting the

werkers from the means of subsistence.

Machinery as such considered alone, shortens the hours of la bor.

#ut in-the use of the capitalist machinery lengthens
of laber.

In itself it makes the werk easier, in capitalism it

the hours

makes the

work more intensive. iiachinery of itself is a viectory of man

over nature but in the hands of the cavitalist it makes man its

slave.

In itself machinery increases wealth, in capitalism
paupers.

Although machinery necessarily throws men and women

pite this, obring about an increase of employment in
tries.

This effect however, has nothing in commen with th
‘theory of ccampensation. We will see later how thi

w o

So far, we can say:

The new labor spent on the instruments of labor, on
inery, must be less

it mekes

out of work
in those industrics into which it is introduced, yet it may des-
other indus-

so-called
WOr KS .

the mach-

than the labor-power displaced bty the use

of the machinery, ctherwise the product cf the machine would
be dearsr than the product of mamual laber. And the cheapen-
ing cf the commodities was thc reascn for the cmpleyment of

the machine.

In proporticn as machinery increases S° doss the mas

g of raw

meterial. The instruments of labeor split intc numberless

branches. Social production increases in diversity.

The increase of the means of production and the subsistence
(by the growing luxuries cf the ayver richer capitalists)

accompanied by a relative dimi uftion in the number

~45-
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ceuses an increased demcnd for laberers in makinz canals,
bridges, etc., WOrkxrx Llat can only bear fruit in the future.
Entirely new branches >f productiocn, creating new fields of
labor, are also formed as the dlreut result cf either machinery
or the zeneral industrial changes btrought about.

The porticn of producing werkers becomes sma ler and smaller,
while the parasites are absolutely increasing

The cheapening of the articles p*aduoed and the improved means
cf transpecrtaticn furrlan the weapen for ccnguering new markets.

4t the same time the enormous power inherent in the factory
system, which expands by leaps and bounds, as well as the de-
pendence of that system on the markets of the world, necessarily
beget feverish production, over-filling of the markets, contra-
dictions on the market, crippling of production, crises.

Except in the period of prosperity there rages between the cap-
italists the mcst furious combat for their share in the market.
This share is directly proportional to the cheapness of the pro-
duct.

In the sphere of agriculture, modern industry has a mcre revolu-
ticnary effect, because it does away with the bulwark cf the old
scciety, the farmer; the peasant replaces him 2s a wage laberer.

But all progress in capitalist agriculture is a twofold progress.
The robbing of the labcrer, that is exploitation, an t] ob
c¢f the scil at the sametime .

Reading assignment: pages 557-617.

Speakers' " 1) The development of machinery.
2) The eifect of the machine on Wworkers.
2) The theory cf ccmpensation.
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.The Production of Absclute and of Nelative Surplus Value.

Capitalist product
modi ties, 1t is es

ion is not merely the production of com-
sentially the production of surplus value.

Ihe laborecr does not produce for himself, but for the capital-

ist.

¢ production of
t LG Odl.;ltu.klst
cduction of rela
hcre in order to

N o

ot o Hi
o g

In crder tc »ro

absolutc surplus value is the prinoipal aim
systcme It is the starting point for the

thu surplus valuc. Ih ormcr must be
make the latter possible.
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Li

ng the surplus labor thr ncecssary labor is
i

1o por,
shortened by methcds whorcby the cquivalent for the wages is
produced in loss timc.

The productiosn of

£
upon the lenzth of
surplus valug revoe
and the compositio

4
8§ illusory,
¢ differuncce
itgolf- folt

f surplus va

t0 raiss
ays is possib

First; when labor
and assuming a ziv

intconsity, the rate of surplus valus
thc actual prolengaticn of the workinz day.

netion vetw

absclutc surplus valu. dcp :nds exclusively
the working day. The production of relative
lutionizes the technical proccsses of labor

n ¢ socictye

g.n rclative and absoluts rplus valuc

cnc depending practica 71y 3 the other and
vetwern absclute and relative surplus value

whencver thsre is a question of raising the

1ucGa. |

the rate of surplus value, ondy onc out of
J.C'c

is paid at its valuc; that is labor-power,
¢n productivity of labdor and its normal
can only b iscd by

Sccond; Given the
surplus lebor-time

length of the working day, neccssary and
, & changze in the rate of surplus value is

2 L 3
possibly only by the productivity or intensity of labor.

Capitalist producti

ion oncc assumed, all othor circumstanccs




remaining the s , and given the l:ngth of the working day,
the quantity of surgplus labor will vary with the physieal con-
dition of tho 1 rer, with the fertility of the soil, ste.

But this does not mean that the most fruitful soil is the most
fitted for tae dcvelopmont of capitalist production.

where nature sprecads its fruit toc freely, therc is no necessity
for dcvelopment.

It is not the mere fertility of the soil, but the differcntia-
tion of thc soil, the variety of its natural process, the
changes of the scasons, which form thc physical basis for the
social division of labor and by that 1lcd to capitalist produc-
tion.

Favorable natural conditions alone give us only the possibility,
never the rcality, of surplus labor and of profit.

The necessary laber-timec is dif fercnt undcer differcnt circui-
stances.

But lct us scc in which dircction the price of labor-power and
surplus value could vary. Changes arc possiblc in relation to
the absclute and reclative surplus value.

The velue of labor-power is determincd by (Question) the value
0of thc nececssitics of lifc habitually requircd by thc average
WOTrXGT.

Tho quantity of these noccssitics is known at any 3iven opoceh
of a given socicty.

m
(¢}
(o]
j |
Ui
ot
o
s
ct
=]

That is why wc can takc it agnitude; what changes
4
L

as
he value of this guantity.

Until now we always assumcd that ovsry commodity is sold at its
valuc. Undcr such cenditions the rclative maznitude of sur-
plus valuc and the priée of labor-power are dotcrmined by

three circumstancos:

)
)
)

Ict us look at diffeorent cffcets of 2 change in

>,
e ]

length of the working day
intensity of labor
he productivity of laber

Wro
+
v
(@)
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the magnitudes:

-t
.

Assum¢ that the lenzth of the working day and the intonsity
of labor is constant, whilc the produciivity of labor varies.
What will hapocn? (1 and 2 constant, 3 variabla).

A working day of a ziven
amcunt of valuc, no matt
mass ¢f thc product and

lenzth always crcates tho same
cr how thc productivity cf labor, the
the pricc of cach single ccmmodity
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produccd may vary.

o

8! y of 12 hours would be 56
then, althcuzn th les produced vary with the
ur“du“t1v1t"'ci lzbor, the cnly 1t would be (Question)
that the value revxﬂsen ted by @6 is spread over a greater num-
ber cf articles. .

If thne value ov

Surplus value and the value of labor-power vary in oppcsite
dircctions;

If the value created by a working day of 12 hours is constant,
then, the cne part of the value (surplus value) can only de-
ocrease if the other (labor-power) increases, or the opposite.

$3 surplus value plus $3 labecr-power, then the valus of labor-
pewer cannct rise from 33 to $4, without the surplus value

falling from $3 to $2.

The valuc of labor-power cannot fall, and consoquently surplus
value cannct risc, without a risc in the productivity of labor.
An increase in the productivity of laber causcs & fall in the
valuc ¢f labor- -~power and conscquently czuscs & rise in the
surplus value; while on the other hand, a dccroasc in such pro-
ductivity causes a risc in the valuc of labor-powcr and a fall
in surplus valuc.

But the proportional incrcase or dimiruéticn in surplus valucg,
cn a given chanze in the productivity of labor, ccns equently
denends on ths orizinal magnitude of that portion of the Wor k-
ing day which ombeodics itsclf in surplus valuc; thc smaller
that porticn, thce zreater is the proportional change; the
greatcr that pertion, the less is thc proporticnal change.

while in our OaS,, the valuc
3, by 1/4 or 25%, thc surplus Ve
1/2 or 50%. (Ncccssary lab: im

The valuec of laber-power is detirmined by thce valuc of . a given
guantity c¢f ncecss 1+1¢s of life

It is tho valuc and not the mass of thesc nccessities that
varics with the productivity of lzbor.

Ricardc was tnc first who formulatcd thess laws, but he had
nct investigated surplas value as such; that is, indcpcndently
of its pdrthular form, as profit, rent, ctc.

Por him the ratc of profit and the ratc of surplus value
wecrc tho samece.

The rate of prefit is the ratio of the surplus value to the
tctal capital advanccd thoe ratec of surplus valuc is the

H
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ratio of the surplus value to the variablc capital.
A capital {C) of $50C _ .

The constant part $400, the variable part $1C0

the surplus valus $10C.

$100: 100%

Then the rate of surplus value is s:
v: $100
But the rate of profit is s: $100: 20%
c: 5b0C0
With a ziven ratc of surplus value, Wwe can have diffcrent ratces
of profit.

Ricarde mixed up the profit with the surplus valuc. He was

only intcrcsted to £ind the magnitudc of profit to the produc-

tivity of labor, but then he nover ‘analyzed surplus valuc as
such.

We can ccnsidcr tais subject from another anglc. Assume that
the working day is constent and the broduct1v1ty of labor is
constant. In this case it is the intcensity of labor which
varies.

What do we 8¢S nNOwW?

Incrcascd productivity of laber will also sup® oly more prcducts.

But in this casc thc val

"1 D)
costs less laber than bof

¢ of cach singloc product falls; it
CrG.

4+

By mercly intensifyinz the produoulo“, the value remains un-
AQng\d, for cach article ccsts thc samc laber as before.

We havc only an inc f products, and as
their numbcr incrcase: heir
But by iner

u scd prcductivity a
zrcater mes

ca
s of w*oductb.

If the intensity of labor would increasc equally in cvery

branch of industry, thc ncw 2nd hizher degrec would becocme

thc normal degrea For sceioty znd would therefore cecase to
) J

be takon into acccunt.

But it would still makc a differencs in relaticn to other
countrics.

Morc moncy would be made, because the intensity brings more
wealth to the capitalist, without changing tiac valuc of the
comnoditics. »

n would be ropre-

The mors inte (@
uld bc tho lcss



intensc of anct hor nation.

Let us investigatc what would take
and the intcnsity of laber would be
the working day would vary.

if the productivity

place
cons tant but the length of

A shortening of tnc working day lcaves the value of labor-power,
the necessary labor-time, unaltercd.

It recduces the surplus labor and surplus value.

Only by lowering the prlcc of labor below its valuc could the
capitalist savs hla surplus velie.

By lengtheninz the working day, the pricc of labor-power may
rema

main the same, yet it would have dropped relatively.

WAGES i

s of the workers

Cn the surface of bourzcois socicty the wage
antity of monecy is

a
appear as thc price of laboer. a certain g
paid for a cortain gquantity of labor.

o
o
u

The werker sells his labor-powcr as a commodity on the mar-
;
l{Gtc

By what is the pricc of labor-pocwecr detsrmincd? (The bour-

&

gecis has on¢ znswer-- by swply a2nd domand).

But the price of labecr-powcr, at the mement when demand and

supply are in cquilibrium, iz its natural price, dctemined

infiepcndcntly of the relation of supply and domand.

Supply and demand explains the price on the markcet avove or

beclew its rcal cost.

A5 socn &s aupply and demand balance, this ccases to explain

¢ know what detormincs the valuse and also the price of labor-
wor

f o man earns 33 a valuec of $6, but
)

Ay

.
L
the $3 appcar to him

The wage form doecs. away with the division cof the working day
in neccessary and surplus labecr-timc.

Tac capitalist poys him $3 for twolve hours, or 257 a
hour. But in reoality he pays uLim only fﬁr B hc¢r3 because

»

thc worker crceted u value of $6 or 50¢ an het il

o B




Ir slave labor, all labor, even thut psrt c¢f the working day il
in which the slave is only replacing the value of its own it
cang c¢f cxistence, 2)pears tc¢ him as labecr for his master. :

In the wegec system, even unpeid laber, eppears as raid. i

There are many forms of wages, but two arc fundamental: time
and piece wages. it

The unit measure for time wages the price of the working ‘
hour, is the value of a day's 1abor- power divided by the number il
of hcurs of the average working day. i

If the capitalist would employ & laborcr 6 hours instcad of 13, i
only 6 hours would represcnt the worker's wages for a half day; it
that is, hec would pay the worker half of his wagecs. I

The longer the working day in any branch of industry, the I
lcwer arc the wages. - The price of labor veing gzgiven, the daily i
cr wockly wage depcnds upen tho quantity of<§§§§ffggyer ex- w
pcnded. ' = '

Thc lower the price of labor-powsr, the greater must be the
quantity cf labor, or the longer must be the working day for
the laborer to securc even a miscrablec average wage. The
lewered price of labor acts hore as a stimulus to the exten-
sion of the labor-time.

Picce Wages

Wages by the picce are ncthing other than a converted form of
wages by time just as wages by time arc z converted form of the
value cf labor-powcr.

If a worker in tho averagzec can produce in 1 hour 12 pieccs of
2 cortain article and he is peid 60¢ thc hour, hc zets paid
for 1 picecc 5¢. Thc capitalist may pay him by the piece, say
4 1/2¢ and intensifiss the worker's labor by so doing. At the
sume time, he has nct to wateh thc worker seo Carbxully, for
the worker will labor the much harder to make cnough to get
his price.

av}
[N
O
Q
fed)

wages are only a modified form of time wages.

s which is mcst in harmony

Piccc wages is that form cf €
duction.

with the capitalist mode of pr

gy
S}
9]

Rcading Assignment: Pages 618-670
Speakers' Assignment: 1) The production of absclute and
relative surplus valuc.
2) Timec wages.
3) Picce wages.
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SESSICN ELEVZ

Recading Assignment:  Pages 618-670

Pirst Specaker: The Production of relative and absolute
surplus value.

Sccond Spcaker: Time Wages.

Third Speaker: Picce Vdocs.

(Make necessary corrections)

r

The Accumulation of Capital

The conversion of money into mcans of prcduction and labor-
power is the first step in the differcnt functions of capital.
This takes placec cn the markset, within the sphere of circula-
tion. The Lcond gtep is the production of commodities
which ccntain the advanced orizinal canital, plus a surplus
value. These conmodities must be thrown into circul ation.
Their valuc must be realized in moncy. This moncy must be
converted into capital, cte. Such movement forms the circula-
tion cf capital,

=

50 the first condition of accumulation is that the capitalist
gets rid cf his commoditics, rcccives mors money than he at
iirst invested and then continues producticn with more capital.

In tne intercst of a bottor understanding of the proccss of
accunulation we assume that the process of circulation is
"norwal"™, that meouns the capitalist gets always rid of his
comnodities, and this is assurance that there is no distur-

bance in thc spherc of circulaticen.
Zucstion; Is this so in roality?

No. In volume 2 M2rx dcals with 211 the diffcrent possibili-
ties in the sphcrc of oirculition.

But to find out whethor thc real difficultics of capitalism
are to be found in thec spherc of circulation wic dismiss
theoretically this diff 1culty. We want to find out whether
capital c*uid harmoniously advancc if thc probloms of cir-
culation would nct coxist.

Later on, we takc up 21l gquestions concorning

0Q

circulation.

During this 2znelysis we assume that the circulaticn is
"normal" and that, outside of thc proletariat thers are only
capitzlists in the world.

Qucstion: Is this so? No, it is not. Even if the capitalists

[@]]
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The purchasc of labor-pcwer for

to the process of production.
But the laborer is not paid unt

lzabor-power, znd rcalized in
but surplus value.
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ust be reproduction.

value in a pro-
in VZO surplus valug

gain, gotting all the
2 steady rcvenuce.
nave what Marx
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gxpended his
its value

So the worker has not only produccd surplus value .

; . but 2lso thc fund cut of which he him-
self is paid, the vwrl ble capital. His employmeont la ts only
so leng as he continu tc roproducce this fund.

Wnat the workcr zots back in wages 1s 2 pcrtion of tho product
that is already produced by hin.
If you take the whole working cless and the whole capitalist
class, you sce at oncc thet the capitalists arc constantly
ziving to thc workers wages in the fomm of money whieh in
reality is only a perticn cf the commodities produced by the
workers and appropriated by the capitalists.
The warkers
this w2y ;,,\.,t
This simplec
the product
M3 s
LnN1ls Process
back bccauss t W‘ a a X
tercsted in the wor:ie k more, Db J ppesi
An individual cepitalist intercsted in the production of con-
sumpticn gcods for thce working class, is, as an individual,
intercsted in highsr wag for the werkers .(nct for hig own
workers) in £ ;u:um1lat; as an individuzl. A
capitalist iamonds is intercested in very 1ow
wages in ord r tﬁ capitalist customcr spend mcre
moncy on amonds «
But considoring the capitalist class 23 a whele, theso dif-
fercnecs in opinion vanish at oncce.
ARH
=55




The loss the commoditics, or mensy, thc worker :cts, the more

the copitalist has. The capitalist is interssted only in his |
own Share. The workers represcnt teo hZim no market, but people |
for whom ho fcels sorry and “ho must oat.

.

Capitalism is only intercsted in surnlus valuc. Surplus lab-
or can cnly be zdined by shorteniny thc nccessary labor-time
or Iung‘cmnmg the mrolus labor-timc. Both ways havc one
sffoct on the workers-- CUttlI’l" from their own sharc of the

a cduct they producc. The worker nover gets acre than he
necds for his rcprcduction, 50 tho ui.-lu-;list class as a wholo
cannot think to let him buy back merc.

Variable capital is only a particular historic al form of
BDPU AT ZnCS of thc fund for providinz the nccossities of 1ifse

ol 1=r 1~
¢ C ’u;iU WOTKCTS o

Surplus labor is =zlways the samc only its foram ch

v
8
Al
2]
.

Considcr 2 peasan vide by working
on it during 3 & rast of the wsok
he works for the dzl lord talkes th
end from the pe - kinz the whole

wee kfor the lord, (o Y tr t tlzt he still
hes to work threc days for ni 30 it wes with thse slave.
So it is with the worlor.

iarx (P. 627) "Thc maintenance =md reproducticn of the wori-
ing cless is and mwst over be, 2 noccessary condition to the
reproduction of capital.”

But the capitalist may safcly leave its fulfillm:ng to the
laborers' instinct of self-proscrvation. A4ll the capitzalist
cares Ffor is tec reduce the lsborcrs' individual oonbof"‘o‘uLCJ
to what is strietly nccecssary.

Capitalist produsction aust
procsss of rcpreducticn,
rplus valug, but produci:
lation-- cn tis one nand
20 Workor.

e ~ 5 T o~ AT :
Reproduction must lead to accunulatl
4 4 yoo - 4 %

it would start cut with 8 i

A capital of ,plOOO malies yecarly -s2C0

surplus valuec would bs consumcd ¢viry

the surplus valuc consumed weould he 5 C
equal with tho capital advan 1¢ccd by the capitalist.

gy »10C would be
O tingcs )

. X N ;. ~
-— - - ~ - ~

1 exeinsa ] A - s Y P ot e

3100 would bo ogual to thac canital




Production would have comc to an znd.,

Cf coursc
gluOD act
ing with
qula be

ilhen & persen Wzots though" with a1l of his pr
ing upon hixg msclf dobtg an—l to the value of that
it is clocar that his property rca: 8!
total of his debts.

Thereforc, simple rcproduotio. sooncr or lgter, converts
CVCTry c;slua7ist into an individual who accumulatcs capital;
it converts svsry cap1t°4 int o eacecunuleted canitai, or cap-

italizcd surplus value.

Conversion of survnlus value into capital.

Up to this point wc have found ocut how capital produccs sur-

3lus valuc. Now wo will s<o how gurolus valuc Dbeeomg capital.
-~ -~

Empl cying surplus valuc as capital, rccon inzg it into capd-
ital, is ca2lled Accumulaticn cf canital.

inst is sccunulation? Let us ceonsidor it from the standpoint
of an individual capitalist.

Qyq == -~ 3 2 amvem e P ~ : ~ 4>

Supposc & spinning factory, has o cepital of
2 27818

910, I\J‘JC 3
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Prcducticn: 240,000 pcunds oX yarn | alue
of $12,000. Thnc ratc of surplus valug 1ist
put in $10,000. His production vrings 21 o 0,000
sounds of cotton. Then his surplus is 40,000 pouands oL cotton
ich costs 32000. This 32000 surplus valus coenvarted into no
23ital would mean that the cxeitalist » it 4/5 o
11,600 to the comstant capital and_l/’a this no
32000 bring in & surplus valuc of 3400.
Tc acocunulatg it is n« : z wortion of the

gurplus product inte caj

Conscquently a part of the annual sur ,laa 1=
asplicd to the groduction of adai

and subsistence, over and abovs

require eplacc the capital I

cnly be : =1 becausc the surplus pre
prises jal e¢lcments of new capital.
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If the exploitation of
then, additional labor

Tne mechanism of ¢
pendent on weges but al

It is only necessary fo
labor with the surplus
surplus value into capi

Accumulation resolves 1
a progressively inercas
reproduction moves alte

If we forget for & mome
fact does not change ouw
a surplus of $2000 ware
capitalized would bring

The original capital we
the capitalist gct tais
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power must be found.

8
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go for its increasc.

r capi
means ¢
tal, and

tal to incorporate t
the accumulation

tself into t
ing scale.
rg its form, it changes in
nt that the capitalis
r system in any way,
capitalized and bro
$80, =nd so on.

started out with was $10,
$10,000?

exigtinz workers dces not

he reproduction of capital
The circle in which simple

t eats,
then we see that if
ught $400, this $400

increase,

apitalist production needs not only a class de-

nig additicnal

f production and the conversion of

is complets.
on
to a spiral.

and this

"By his own and the laber of his forofathers™ will the capitalist
say. This is not so. Can he sy the seme about the additional
82000 -- $400 -- $80, and so on? No. In both instances he could
not say so.

Later, by primitive accumulation, we will seo how the capitalist
gets started; he, «s Marx put it "is like the congueror whe buys
commoditics from the congquered with the money he nas robbed them".
But by thc additicnal capitsl we can clearly see that it is made
up ¢f unpaid labor: by rcbbing the worksrs cf their productse.
This is what is eazlled "ereating capital out of capital”.

The original transformation of money 1ntc capital has the fcllowing
resul ts:

1) The product bclongs to the capitalist, not to the laborer.

5) The value of this product comprises 2 surplus value which has
cost tie worker labor power but Th capitalist nothing, yet it
becomea lawful sropcrty of th 21list.

3) The laborsr 2as reproduce zbor power and c2n sell it
cnce more, if he Tinds a buye b

The productiocn of commodities dres not impose itself upen the
wholo socisty until woge labor becoras its basis, =2nd only then
decs it unfeld 211 its powers. To say that the intsrvention of
wage labor zsdulterates tho sroduction of commedities is To 384y
thot the producticn ~f commoditiss musSt nat dovalope.

Even in the casc of simple roprecduction all canital, whatever

its ¢rizinal socurce, occomeS ccnvertsd intn aceunmulated capital.



First we asowmed that the capitalist (simple reprocduction)
ccnsumes all the surslus valuwe himself. <Then we said that the
capitalist decs not soensume at 2ll but, instead, capitalized
tnp whole of the surplus value. Bota things, however, do not
take place. Tins capltelist is d:inb both things at the same
time. He eats from the surplus ,nu he capitalizes a part of
the surplus value. In order to cat more than before he ac-

cumulated the surplus valus.

Therefore, with a given mass of surplus value, the larger one
of these parts, the smaller the other. If the capitalist eats
-much, he can accumulate less and vise versa The part of the
surplus value that he dces not sat is "saved“ by him.

Marx: " Fanatically bont on making value expand itself, he ruth-
lessly fcrces the human race to produce for production’s sake.
He thus forces the development of the productive forces cf so-
ciety and creates thoge material conditions which alone can form
the real basis for = higher form Cf society, & socicty in which
tne full and free deVQlOpmGnt of every individusl forms the
TULLNZ Principlce”

The development of capitalist production

neccssary to keep incrcasing the amcunt cf the capital 12id out

in a given industrial undertaking, and ccmpetiticn makes the

e¢mine nt laws of capit=zlist prcducticn tc be felt by sach in-
dividual capitalist as extcrnal laws. It compels him to keep
ccnstantly extending hiis capital in order to prescrve it, but

the only way of extension is by means of progressive accumulation.

makes it constantly

Ti
i

he proportion in which surplus value brez2ks up into capital
znd revenue, the magnitude of the accurulated capital depends
clearly on the absclute magnitude of the surplus value.

) 5 oA e ]
Suppese thsat BOﬁ were capitalized and 20% caten up, the accumulatced
capital will be $2400 by a2 total surplus of 3000, and 1200 with
a total surplus of 1500.
Thus the constant ucndeﬂC( of capital is to force the cost of
labor back towards zero. (Remember: The rate of surplus value
depends on the rate of explcitation).
Thersfcre, a2 very important fzctor in the accumulation of

capital is the degrce of the precductivity of laber, the degree

of exploitation.
Witk the productive power of lzbor tas mass of proiucts increases
in whiceh a certain value, and therefores 2 surplus value of a

iven magnitude is inccrporated.
The rate of surplus v .ue remaining the samec or even falling,

sc long as it only fajls more slowly than the preductive power

of labor rises, the m.3s8 of the surzlus product increases.
Then the consunmgtion £ the cu_ italist mey incrense withecut a
decreasing fund cf accurulaticn.




But hand in hand Witd g
the cheapening of tae la
plus value.

-
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16 inereusing productivity of labor gces
bor and by that a higher rate of sur-

Then the same value in variable capital sets in motion morse
labor-power. The same value in constant capital is then
embcdied in more means of production, in mecre instruments of
labor, etc. It therefore supplies more elements for the pro-
ducticon of both use value and value.

In this case then, the value of the additional capital remainin

e same or even decreasing, accelerzted accumulation still takes
ce. Not only does the bCalG of reproduction materially ex-
nd, but the pruductlcn of surplus value increases mcre rapidly

han tne value of the additional capital.

Generaily it can be said that "with a given degree of exploita-
tion of labor -pewer, the mass of the surplus value prcduced

is determined by the number of workers 31multancously exploited;
and this corrﬂsLCﬁds, although in varying prcportions, with the

Y]

magnitude of the capital."

Therefore, the mere capital increases by means of successive
acecw “ulatlon the more¢ dces the sum of value increase that is
divided intc ccnsumption fund and accumulation fund. The
capitalist can therefore live a mcre jolly life and at the same
time show more a2bstincnce. And, finally, 21l the springs of
prcduction act with J*eater elasticity the more its scale extend
with ths mass of the capital advanced.

liarx said (Page 671) that the most impcrtant factor in this
inquiry is the composition of capital.

SR EL BB o EE o 0 i GG E o me m o p
lst, Cn the side oI f'Wua it is determined by the proportion
. 4 I - 3 - ~ 3 K] . PRSP oy | =7 = AT
Jhi it is divided into constant capital, cr value of the
producticn ana varizble capital, or value of labor-
= wqa ) .-\] P I S
< SUum tntal o the wagese.
~ ;) 4. * e -~ N 3 2 2 >
2nd, Cn the other side of materia ctions in the
- N < - . - i a -
process of production, sil capita intc mcans
~N A ARy - >: T Lopsd ~ e 3 .y LR i IEN )
oif producticn and living labor-g composition 1is
~t B g ) . 4 tm ~ 3 | ] oA~ &7 v - ~ -~ P -
determined by the relation betwee £ the means of
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preduction empglcoyed, and the mass gessary ror their
employment.




deteramincd by its tectinical composition and mirrors the changes
of the latter, the orzapnic cemposition of capital.

The wmany individusal capitals invested in a particular branch of
production have, one with the other, more or less different i

ompositions. The average of their individual composition L
gives us the composition of the total capital in this branch Ul
of industry. Lastly, the average of these averages in all ‘
branches of production, gives us the compositicn of the total
social capital of = country and with this alone we are now
concernecd.

Growth of capital involves growth of its variable constituents.

A part of the surplus value turned intc additional capital must
ways be retransformed into variable capital:

-

If the composition of cepital remains the same, that means that ﬁk
a definite mass of means of production constantly needs the same !
mass of labor-power to set in motion, then the demand for labor
inereases in the same proportion as capital. And the more rap-
idly, the quicker the capital inecreases.

With the opening of new markets, (Marx calls this special
stimulus tc cnrichment)or new spheres for the cutlay of
capital, newly developed social wants, capital on a progres-
sive scale, mcans also more or larger capitalists cn one side,
more wage workers on the other.

Accumulation of capital is therefore an increase of the pro-
letariat.

Reading assiznment: Pages 671-783
Speakors' assignments: 1) Simple reprcdu i‘n.
2) Conversiocn of surplus value
into C*pltal
3) Productivity of 1laber and
accumulation.
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raid labor for the setting in motion of this additional capital.
It cannot be otherwise. 4s in religion man is governed by the
products of his apitalist prcduction he is

wir hand.

own brain, so in o«
governed by the products of his o

According to Marx the ﬂﬂveWGPmenu o
the motor of the historical develor:

ent .
With the new preductive rowers the :aople change their mode of
prcducticn and with it the way and mcans of making their liv-

lné B

Cepitalism, mere than ang other wmode of production before it,
(on account of the value relation) develops the productive
power. This is why capitalism was necessary znd a2 fast step
forward in the cmencization of the human racc.

The development of the *roductive power is reflocted in the
tcchnical cozposition ‘f capital, or in the growth of the
mcans of production. This ’TilA is raeflected in the value
cemposition by the increase of the ecnstant cepital at the ex-

pense 0of the varlable

If there was once 50% comstant 2na 500 varisble it will in the
course of accumulation change to 80 ccnstant and £0 variable,
or to even zsrezater disprogortion.

T . IR 3 S aniag + S , 325 [ T Q \ Y ~| 4 +
If 2 spinning factory around the year 1800 had 1/2 constant
znd 1/2 variable it may havo today 7/8 constant and 1/8
“rm I o s 2 ra 4 - = ~ e omen
variable; but at the same time the wmass of raw meterial, the
2ass of labor, mass of commodities is many hundred times
T oo Yy e O
larzer tharn in 1800:
A3+ R a 4 # W 3 St - s ~ A - >
Hith the incresasing rproductivity of labor-power, not onl;
S~ - m—moa 2 e A A £ - T A -5 I - 7+
ices une mess or the meéans of production, consumed by it
3 Do N 4+ Ja~ P .~ AP~ A areel 3 3 ~ T em S 3
inereass, but the value compared with the mass diminishes.
Mmis - e -~ 4 g -2 > s T ] vt T v - = - 3
Tae value therefore rises absolutely, but not in proportion
12 the magss.
RT« TN A
Blackbozri)
8 4o X - 7 % = S - 5 Vs
Constant cagital - Vzlue 500 ms2ss - 10 machines
1" " " I~a . - —_ P} o
2500 100 machines
~ w7AalA A - vl s ~1 Tl B +3 vq
Lac mass is 10 times developed, but the valus only 5 times.
M, 3 - - 3 Ty J 4 p 1 . P - - 3 - - -~
The increase in the diffcrence between constant znd variable
1 3 -~ 1 -~ - 3 ~ h 2 A SR« N,
cagital is therefore much less than that of the differsnce
1 + 4 ~ e .o 31N = - “F ammm o~ A -~ =) ! 3
petwesn the mass of the means of prcducticn into which the
constant and the wesg of labor-gower inte which the var-
3R] AT Pr% | S o -~ - - - -~ Mty A pay T SRR ~ -
iable cagital is converted. The former diffsrence increases
-3 1+ A i - . .= 4% - 3
witli the latter, but in & smuller dezrse.
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8000
Co nt Capital 50 -- Variable Capitael 50
3000 3000
18000
Constant @apital 80 -- Variable Capital 20
14400 3600

To inecrease 3000 to 3500 variable, it was necessary to raise

the original capltal under this new orzanic crm}051t1ﬂn 3

times. L 20% inecrease of the variable capital makes a 300%

increase of the total necsessary.

The development of the preoductive power is necessary. Marx,

P. 685; "With the accumulation of capital, the specific
mode of production developes and with the capitalist mode of
production accumulation of capital. Both thesececonomic fac-
tors bring about thet change in the technical composition of
capitel by whieh the variable constituent beccomes always
smzller as compared with the constant.m

BEvery accumulation veccmes the means of now accumulaticon.
With the accwemulation of capital so the number of capital-
ists inerease.

With the increasing mass of wealth which functions as cap-

ital, accumulation increascs the concentration of this wealth

in the hands of individual capitalistsy and s¢ widens the
basis of prvduction on a larze sale. Ths growth of capital
is effected By the zrowth of many individual capitclists.

The battle of comgpetition is fought bJ cheapcning of com-
modities. The cheapness depends on the arﬂluntlvltJ of
labor. Andé this zgzain on the sacle of prcducticn. So the
larzer capitalist can beat the smaller one.

Crecdit becomes 2 powerful weapon in the strurzle of competi-

This azain opens new stheres for new cacitalists. Sc con-
centration and centralizaticn gZo sometimes hand in hand;

but 2t the samc time the bigger copitelists defeat the
smaller ones.

Centralization in a certain line of irndustry would have
redached its extreme limits if 2ll the individual capitals in-
vested in it would have been amalzamated inte one sinzle

aritel. (Paze 682).

Contralizaticn supplements the work of accumulation by

i
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gnadlin: tie infustrial capitalisty to oxpand the sacle of
tiieir nreoducetion.

The coonomic result ia Aiwﬂys the same, even in State Copital-
ism; Centrajiz:tion ;“,‘n8111es the' accumulstion.

The technolozical composition which mirrors the orzaniz com-
pesiticn takes plzcs in this W’j ag far a8 constant and
variable capital are concerned

If it wes orizinally like- 1l - -1, it will becone:
2 -1, 3 -1, 4 - 1, 5-1, & -1, etc.

¢ that when ths ca2pital increases, not m
l/o 1/8, stc. it iz transformed into 1
7/8. cte. inte menns of production.

L ]
By this 2 surpl

us labor population is a necassary product
of eapitelist accuru

25ion. It is the law cf “ovu‘ ation
itzlist mode of praoduction. (An abstract
bl sts for plants ané animals only, and

28 man has not interfered with naturce).

puc“li_,. 52

This surplus population becomes at the same time 2 necessity
fer o3 ‘1tél¢s‘. It forms the industricl reserve arnmy for

the changing needs of the self-expansion of capital, a mass
of human matp*lal always ready far exploitation. The cyelical
character of pro dtnflcn depends also on the existence of an
industrial reserve army.

In the childheccd of canitalism the compositicn of eapital
changed slowly, and as a result there was a2 steadily grow-
ing demend F“r laborers. This tendency increases with

faster accumulation .and higher organic compcesition.

In this state, the generzl movements of wages arz exelusively
regulated by the sexpansion and ccntrzction of the industrial
reserve army, and this zgain corresponds with the pericdic
changes c¢f the industrial cgycle.

Read Marx, Pzge 707. "The greater tize s0cial wealthsessss
concern us here.”

Rea

Page 708. ™"The law......own self oxpansicn.”
Pages 708-9 "But 211 methods....in the form of capital.”

ing assignment: Pages 784 tc the en
e Ssignments 1) Crzanic Compos
2) The Industri:

3) Accumulation.




SESSICN
THIRTEEN

CONCLUDING SESSION

td

eading Agsignment: ages 784 to the end.

Speakers?! Agsignments: 18%t, Orgzanic Compesition cof Capital.
2nd, The Industrial Reserve Army.
3rd, Accumulation.

RECAPULATE
Technical Compositicn; Valus Composition; Crgenic Composition.

fle have dealt with "Soccial Capitel™ - one capitalist, with
only labor at the othor pele.

Deveiopment of the organic compesition is first a natural pra-
cess of the development of the prcductive powers of society

It has a value character in capitzlism and this is the reason
why it develops so fzat.

It cannot develcp in reger
in regard to the necessiti
other words, eccumulation.

rd to the necessities of mankind but
ies of preoducing surplus value; in

Wher it comes in conflict with this historical form (capital-
ism,-- value form) of the mode cf production, then a new
society must frec the productive powers from this chain.

Accumulation: Conversion of surplus value

The accumulati

tion of workers i3 necessary for 2ccumulation. But
at the same time, due to the organic composition, in relation
to the total carital the workers beccme less. The ereation
of & surplus population is the result.

The resarve army 1s necessary, first to have the workers
ready £or the creation of new spheres of production and,
socond, to check the wages of the workers.

The theory of supply and demand on the laber market. The in-
dugtrial reserve aruwy is the law cf population in cepitalism.

ments When can the
ad what brings thenm

Explain the limitation of the wage move
wages rise 2nd how far can they rise, a




down &gain?

With the developnont of the crzanic composition the mass of the
means of prcduction wnd the products ere inereasing, but its
valvue is decreasing at the same time.

(Blackboard) Ccnstant Capital: Value 500:mess 10 Machines
# " " 2500 :mass 100 Machines

Here the mass hag 10 times developed but the value only 5 times.
This goes for commodities, labor-power, etc.

By this, the inerease in the difference between constant and
variable capital is less than the difference between the
means of prcduetion and labor-power.

(Blackboard) Capital: 6000
Constant: 3000 eeaesessssVariable: 3000
(50%)

Capital: -18000
Constant ¥ 14400 sssasasssaavarizble: 3600
( 20%)

To increase 3000 to 3600 variable it was necessary to accumu-
late frem £000 to 18000 tot2l capital. A 20% increase in the
variable capital makes &n 80% inerease in the constant nec-
essarys 200% in total capital.
Centralizetion allows prcduction on It inten-
sifies the accumulation.
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Capitalism will develop in this way:

Tad i owe BOEOGss ol B00 830055 «sslals 1/ Buws s Wl /2
91 44s0al003B0sasen T00y 3B0as i veBaBe 2/ Bess s+ Velbs 145
5:1 ooaoal50:50.--o. 1200: L;:O‘C;-;-;S.C. Z‘I/lla'."lﬂoi.c. 1/4’.‘
4.':1 '."!2{\:‘0:50....' 1800: 45:335010300Q "‘:/lEBOI"VO\JB 1/5
5:1 6.'..250:50."l. 2500: 5009.0.‘003' 5;’5.’.0017000 1/6
Less and less varisble capital in relation to the means of
production and as a2 resnlt unemployments
S¢ the confliet between the material dsvelopment and the social
form of prcduction expresses itself ian the crisis.
Capitalist production is nothing elzme but a "utilization"
rrocess. Capital cunly produces capital if it produces sur-
plus value. If this cannct be dene acecumulation will stop.
Remember: The rate of suryplus value: Necessary labor-time: 4




S: 10C 10C% Rute of surplus valuc: (Constant Capital: 400

T: 10 total Capital: 500)

Rate of Profit S: 1CC 20% Rate of surplus valus: 100%
€ o0 " " profit . 20%

Let us see what this would mezn in relaticn to the devel cpmen
cf the organic compositio

- 3C0 conatant, 300 variable, rate of
rate ¢f pro

lus value: 100%
it 50%

700 congtant, 350 verjabls, rate of 3,v. 100%, r. of p. 33 1/%%

500 n 500 " n 1" " /

all in the r. of p. would lead tc the end ¢f capltalﬁsm 1f not

imultanecusly with it, the mass of profits would increase.

(Back to gage 82, tlackboard) Value 500 : 10 k2chines
Value 25600 : 10C lLizchines

The rate of surplus vulus: 100% . -bocause surplus labortimed

neec. N T4

The development of the productive power nas mede possible:-

SurquS iabor-time: 6
Nec labor-time: 2

)

Herec the rate of surplus valuc is 300%

With the fall in the rate of profit the mass of profit in-
Creasces.

C:1 % accumulaticn V: 5% accumulation

1l year c: 200 000-v: 100 COC ® 0f S V. 100% R.of pro. 33 3%
2 a ¢: 280 00C-v: 105 000 LA lOOp o i *Ecom
) i c: 242 00C-~-v: 110 250 Hoaowon I”Cp oo BI;UN
Iy ® c: 471 234-v: 185 130 Hodr ar om IOO% oooon 24 ;7%
I3 " e¢s 818 3b7<w: 162 886 s wmy BOO L 47 :8%
15 "™ ¢: 758 925-v; 197 988 " n mon 200 " n 41:oﬁ
20 ™ ¢:1222 252-v; 852 691 " " wn onandm W n 34:2ﬂ
21 " c:1544 477-v~ 265 325 R mau Bub, i 49 . ““
3 n ¢:3170 200-v: 411 602 oA UUOJ T % % of:5>
35 ¥ c:5105 637-v: 5286 319 AL R 1070, L A 27 -

he mass of profit comn ngates the fall in the rete of profit.
But as the exploitation reachncs its limits then the mass falls

also.

l_l
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tenth ycear

(In this example, we did 5h?*éccu ulate fagter a the rate of
exploitaticon had incersa sed; we have accumulated under the

-
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condition of ascumulating under a rate of exploitation of 100%.
Ir roality the 37C;% and 20C% rate of surrlus would have hasten-
8d the accumulztion process, that means wmeore constant capital
(to make this 30Cik sxploitotion possible) but ever under our
circumstances the rate of profit hag drcpped in spite of in-
creasing tne mass cf profit.

Mcrx, Volume 3: "The fall in the rate of pr‘fit shows the re-
lative fz21l to the surplus velue of the advanced capital.”

The £211 in the rate of preofit is an index that shows the
relative fall in the mass of profit.
_ .< SURPLLS VALUE 1737
i } =
|
! ) 1 e? = ey e
CARITAL - Z
337
CALITAL
; QHE M= o CeC
I Soo ” + f
| | SR VELIE
; S =
i /goa
Capitel has grown from 1900 to 1938. {See below:)
Sc has the organic ccmpcgiticn; but because the crganic conmposi-
ticn dcvelops, an always bigger part of the s.v. must go into
accumulation of constant capital. The 2mount which is left for
the capitalist and worker beccmes smaller.
Thet mezng, the surplus can grow 2bsclutely and still does nct
suffice to fced the capitalist and the worker. very surplus
mede is needed for the accumulation, and if tnere is no accumu-
lation there is a crisis.

You may ask, Why doesn't the capitalist stop this process?

The mass that is necessary for the continuation of the accumu-
lation process is not dependent on tinc rate of nrefit but on
the mzss of the existing total capital. The accurmulation
goes cn with the power ;t already possesses, nct in relation
to the rate of profit.

The fall in the rzte of profit and a4 faster accumulaticn is
the sawme process; both ocxpress the development of the pro-
ductive power.

.,

Bven if o capitzlist concern woulid only use its fixed capital

#*A=C = Accumulated Constant -59-
A=V = " Variabls
C=C = Capitalists' Consumption Fund




to 50% it would b: foreed (by competition) to ronew its appear-
ance not in rul4tL\n to the 50;:used but in relation tec the lOCﬁ
of the exigsting fixed capital.

But let us 1locok 2t & process cf accumul ztion tarough orisis
and prosperity a2nd find the gencral tendency werking there.

Merz, Volume 3, Ps 303. "The development in the productive
power of labor crecates in the falling rate of prcfit 2 law
which turns intoc an antagonism of this mocde of prcduction at a
certain poeint and requires for its defecat periodical crigis.”

-General tendency of capitalist accumulaticn: Wealth on the one
hand and pauperization on the nbx“-.

With the aceumulation of capitel the accumulatiocn c¢f poverty
goes parzllel. This absclute law isg uncdified by different
c;rcumstuncus not changed-— only modificd. This law is, as
the inner 1aw working through ali modizications.

Accunulation, no mitter how it may becone modified, has as the
last rosult risery for the workers to the same extent as wealth
is produced.

Accunmulation can only go on sc long as there is profit tc be
made and sc¢ lenz 2s there is 2r¢ ofit capitzl will and must 2ccu-
mulate. A crisis could only be uxglalnpd in showing that due to
some reascn ccpital eannot meke any more profit.

CRiSIS

"
7
=)
1
=X
COLLAPSL
As long as there is sufficient profit accumulaztion gzoes on.
Where thore is insuffieisnt profit the crisis sets in, followed
by 2 time of agrrgas-v“. If this 4depression would nct be
stepped then the collagss weuwld accme.

Accurulaticon goes cn in an ever higher orzanic cemposition.
- v -




But lubcor is the only source to capitalize capital. But re-
letively there is, as accumulation zows on, alw vays less and
legss labor: the rate of profit dreps 2ll the tlme, but at
periods the mass of prefit gains. As lonzg as this goes on,
cepitalisn is on en upward urend in spitc of the dron in the
rzate of profit. But when, as we saw, the mass also :alls, or
is not sufficient enough to bring the orzaniec composition
hizher, then the accumulation stops. The crisis is there. And
that would mean the end of capitalism, becdause it is the end of
profit-meking. The class struzsle gn,,:ens the misery bedgcmes
go zreat that the revolution takes places

he crisis sets in 2t the peak of accumulation. It was not

The
there beforec.
S

o we call it Over-accumulaticn.

Moncy from the already existing capital is still ccming in, but
ncbedy wants it because it weuld not dbring profit; so it swamps
the market. Over-production of cspital. Accurula ion gteps.
All the industries, which werc engazged in prcducing for accumu-
lation on the given accummlaticn rate zet rid of their workers.
Cagitalists do not buy any material for the industries, so the
prcducti on in these industries stcops; production of ceomsumption
rocds ceases beczuse the feedinz of lzborers beccmes unnecessary.

10 capitalists arce zoingz ocut of tusiness but every individual
ca:italist tries tc save hlZSO-;. He can only de so in the

strussle of competiticon. This means he has to brinz up his
“rc&autwve power in arder to rruducc cheager than the other
canritalist. He "pnllcs ow metheds te his production (hiszher

orzanie compogsition ) by which he can sg¢ll over his indi vi dual
velue but hnder the socizl valus. He zains an extrz profit
and more capital, but whieh sradually are nullified; for as
soon a4s he dces sy, cther capitalists apply the samsg methods
which greduslly beccme the sccial methods and the value the
gsocial value., The ca;italist in the same time always tries to
Lore caritel, becausc his profit is determined by the

2l he pogscgses. If one capitalist makes in 2 certain
leicn sphoere an extra prefit, more capital flows into
srhere, and soon the rate of profit is the game as the
ial rates But then the profit is determined by the cap-
that the capitalist possesses.
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The hizher orzanic composition is & necessity for ceapital in
crder to live. So in trying to cvercome the impossibility of
making profit, they develop this impossibility only on 2

hizhor sealc.

In order tc overcome the crisis (look at the drawing on page
72) the inpossibility of utilization must be cverecme. This

brinzs us to the eyclical charactcer of the erisis.
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Counter tendencies:

Higher rate of profit through the development of the produc-
tive power. Raticnalization. Concentration:

4 Factories; 50:¢ 50:v
40:¢ ©60:v
35:a 65:v
25:¢c TE:v
150:c 250:v

Concentration of 4 to 3 factories with the same production:
90:e¢ 38:v
35:¢ &5:v
26:0 7bB:v
18Q:0 17E:v

There will be unemployment, but for sometime more profit.

More asxploitation, intensification, more commodities in less
=78




time, shortening of the ncon8sary labor-time.

Shortening of the time of turnover: bettcr circulation pro-
cess.

With this, more money on the market. The rate of profit is
now determined by & smeller total capital.

New sphere of production.

Doing away with ground rent.

Doing away with the merchant profit.
Killing of the profit-esting middle strata.

Devaluation. (Capital becomes valueless due t0 the develop-
ment of productive power).

War - bankruptcy.

World market. BExport of capital. Exploitaticn abrcads Cheap
raw meterial - Impcrialism.

Monopoly.

De=bh crisis if all those counter tendencies are not strong
enough to compensate the genecral t endency that leads to the

breakdown.
But before this the revolution will take place.

The crisis due to the over-accumulation of capital 1is also
always a crisis of over-production of commodities.

1) Primitive Accumulation

The accumulation presupposes surplus value; the wiiole move-
ment as a cirecle.

M-C-M~ C-=L Where was the beginning?
Moncy and commodities are no more capital than the means of
production and means of subsistonce.

They were transformed into Capital. (Use and Exchange Value).

fQgere is no capital without frec labor; this means pcople who
have nothing to se¢ll but thsir labor-power.

The capitalist system presupposcs the complete separation of
the laborers from 21l property in thc means of preduction.

-
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As scon us capitalist prcduetion iz working it reproduces
this socizl relation.

hu primitive accumulation is nothing else than the historicel
occess of divorcing the producers from their means of living;
hat iz, the means of producticn.

c'f"d (=]

It appears as primitive, because it forms the pre-historie
tage of capital.

The econcmic structdre has grewn cut of feudalism.

The dissolution of feddalism sets free the clements fof the
development of the capitalist mode of production.

"Pree labor could only be there when the laborer was not any-
more bound to tho soil.

Tho guilds had to be dissoclved to coverecme their labor regula-
tions.

On the one side the emancipation from serfdom and guilds, on
the other the new form cf exploitation, wage work. But this
ig 2t the szme time the development cf the productive power

of society.

The bourgzecis revclution of the 16, 17, a2nd 18 centuries: the
prropriation of the agricultural prcducers, of the peasants
from the soil, is the basis of the whole process.

The history of this process in different countries varies
with differcent pericds. But esscntially it is always the
ST

In England it hed its "classical" form. Illustraticns ars
given by Marxz,

In Erngland scrfdom had practically disappeared in the last
part of the l4th century.

They had frec pezsanta, who werked port time for the feudal
lord and the rest of the time for thomselives.

The prelude of the revelution, for the foundction of ecap-
1131133, was played in the first deczde of the loth

century.
A rmass of frce croletariaps were hurlcd on the labor merket
by the br’“”lpg ay of the Teudal rctuiners. Tho rapid rise

£ the Plemish wool manufsctursrs «nd the . rise in the price
of weool gave the direct impulsa to the evictions of the old

foudzl lords.




The new nobility was a child of the time, for which money was
the power of all powers.

Transformation of lzand into sheepwalks.

Merx illustrates the precess of driving the pecple from their
land and using the land for the manufacture of wool and the
free labor for the production of wool comacdities.

Primitive accumulation: The expropriaticn of the church propert
the robbery of the common land, the usurpation of feudal and
clan property, its transformaticn into medern private propoeriy
under circumstances of reckless terrorism.

They conquered the field for cepitalist agriculture and created
for the town industries the necessary supply of "free" laborers

The laborer@ could not be absorbed as fast as they were thrown
on the market. They cculd not fast enough adapt themselves to
the new conditions. The result- Dbeggers, robbers, vagabonds.

For this rcason there was passed blcody legislation in EBurppe
against all vagabonds. Flogzing, brandinz, killing and hard
labor prisons, and various forms of .torture, were in full
forao.

Marx gives some laws for the sake of illustration.

n the beginning, (not much machinery) variable capital was
cuinatinz. The demand for wage labor grew rapidly with

very accunmulation. A large part of the naticnal preduet,
nanzed later in the fund of capitalist accurulation, then
8till entered intoc the consumgption fund of the laborer. Then
the -3~ pericd of legislation of labor took place.

Lews tc set theb8ight of wages, laws against trades unions,
which wias dropped only in 1825, etc.

We know by now how the proletariat Was created, but what about
the beourgecisie? Let us begin with the capitalist farmer.

This was a slow process going con throughout centuries.

The serfs as well as the free smidll preprietors held land
under very different eccnomic conditions.

In England the first form of the farmer is the bailiff, hio-
self a2 serf. Ho was redlaced by the farmer, whose landlord
providces him with sced, cattle and impliments. He explcoits
more laborers.

es on half of the steck, the landlord on the cther
ney divide the products.

He advanc
half. Ti




This form disappesrs and mexes place t o the farmer proper, Wwho
Y - - L 3 - . 4 ,
makes nig own capitul breed by empioyinZ laborers and pays a
part of the surplus prcduct to the iandlord as rent.

With the agricultural revolution, (such as wool manufacturers)
ne enrichus himsclf very Tast. With that, he develops in the
samo time the industrial cepitalists.

The expropriation and eviction of a part of the agriculturel
pocpulation not only set free for the industrial capitaliststhe
laborery, thoir means of subsistence, and material for labor, it
slgo created the homo market.

In fact, the events tha tyangformed the smell peasants into
wege laborers and their means of subséstence intc material
clements of capitel, created at tho same time a home market
for the capitsalists.

Formerly the peassantsproduced the means of subsistence and the
raw material Tor thcmselves and they consumed them. Now these
thingshad become commoditics; the large farmer gells them on
the market, he findsthis market 1 menufacturers.

Many small guildnasters tranaf ormed themselves into capitalists.

The money capital formed by means of commerce was prevented
from turning into industrial capital by the feudal constitu-
tions, (Guild organi zation).

With the breakdown of feudalism this wes done away with.

The discovery of sold and silver in America, the beginning of
looting of thc Ezst Indics, Africa =28 the commercial hunting

around for shlves, giznalized the dewn of capitalist produc-

=

tione.

Torece ig the midwife of every old society pregnant with 2
now ong. It is in itsclf an economic power. ?Eistory of

czpitalism froo the 15th century, the Netherlands, Spain, etc.)

yerx illustratcs the brutal process of the outspreading of
cupitalism. Robbery,killing, Java in 17E0 equalled 80,000;
1815, 18,000).

Thus colonial systems ripened liks a hot nouse 2lant. Trade
and navigation developed.

Todey industrizl supremacy implies commercial supremacy. In
tnc periocd of menufactwe 1t wag thae commercial suwprenacy

r

that gave the industrizl predomimance. This is the re&scn
colonizaticn played such 2 powsrful role.
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The benk system develicpeld too. Brkas loaned (private institu-
tion) money to tre gﬂ* srament. Tt 1sy printed money. In the
same time the intcrnstional crodit system has developed.

S0 capitalism aprcad.

The modern system of taxation was nccessary to cover the ex-
pende of interest by the government to the banking capitel.

Marx:; "Capital comes into the world dripping from hoad to
fcot, from every poor, with blood and dirt."

In western Burope the procoss of primitive Accumulation is al-
most completed. Here the capitalist regime has either dirsotly
conquerced the whole domain of national production, or, where
aconomic conditions zrc less develcped, it at least, indirectly
controls those stratz of society which, belonging to the an-
tiquated mode of yrocduction, continue +m exigt side by side
with the gradual deeay

H
L]

But in the colonics the capitalist rezime comes into collision
with the resistence of the producer, who ags the owner cf his
gendition of labor, smployed that labor to enrich himself, in-

stead of the capitalist.
That brings cbout 2 struggle betwcen them.

0 away with the competition on exploi-

Or by sharing with the originul
dia) *vsto.1+1c cclonization is

mitive &ccumulzticnh abread.

The cgpit ligt tries to
tation by force ifpossi
exploiter if necessa
nothing else than the pr

-

Exploitation of labcr in tho
colonization, also raw mater

'u
[
c+
w

cclonies ig the aim of
ale

f Cavpitalist Accumulation.

21 started through primitive accumula-
neral law of accunulation and find
waealth on one side and poverty on
of ocupital i3 the acocumuwlation cf
What is the historical tcndeney of 2ccumulation?
Private propcrty, as tho antithosis to sceied, ccllective
preperty, oxist only where the cecans of labor an; the oxX-
ternal ceondition of labor belcng to private individuals.
At a certain stage of devel: brinzas forth the
material agencies for its o uticn. Froo that time
onward new forces ond now p oring up in tlie bosonm of
society. But tho cld scciz 2tion fetters them; keeps
thon dcwne The old social ion 2wust be annilated.
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ism wes the Xz prietion c¢f = mess by a few. Central-
izetion t Z33 place. “ne capitalist kills many The ¢Xpro-
priators are *xgr“prlzte*. The devel opuent of pr“ductiv1ty-The
negation of nogeticns. The expropriaticn of the few by the mass.
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Page 68 - second linc from the bottom;continued cn page 69-
first line from the top shculd read:

( In this example,wc malntalnod until the tenth year a rate
of surplus value of 100%. Lator we adopted a rate of 200%
and another of 300%. With the increase in exploitation the
growth of the mass of profit compensates for the fall in
tn( ratc of profit.But this rate cf surplus value has to be
increascd constantly to compensate for the fall in the
rate of profit.)
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